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1. K = n called 

a) Integer programming problem

b) Pure integer programming problem

c) All integer programming problem

d) Both b) and c)

Ans. D
2. In the optimum solution if all the variables have integer values, the current solution will be the desired ------

a) Solution

b) Optimum solution

c) Optimum integer solution

d) None of the above

Ans. C
3. The expression may be traced by

a) Von Neumann

b) Ulan

c) Both a) and b)

d) None of the above

Ans. C
4. The game theory prominence only after

a) 1928

b) 1944

c) 1922

d) 1940

Ans. B
5. Competitive situations occur when two or more parties ---------- operate

a) Trading

b) Interest 

c) Conflicting interest

d) None of the above

Ans. C
6. In a competitive game the no. of players is

a) Three

b) Four

c) Two

d) Finite

Ans. D
7. The probability of the head in toss of one coin is 

a) 1/3

b) 1

c) ½

d) None of the above

Ans. C
8. The row minimum in the pay-off matrix is called:


a) Mini max



b) Maxi min


c) Pay-off



d) None of the above

Ans: B
9. The minimum of the maximum in the pay matrix is called –


a) Mini max



b) Maxi min


c) Saddle point


d) None of the above

Ans: A
10. Probabilities associated with the variables can be estimated on the basis of 

a) Past data

b) Imputing subjective values

c) Present data

d) Both a) and b)

Ans. D
11. The system of modern industries is so -------

Simple

Complex

Usually simple

Usually complex

Ans. B
12. The management problem may be to optimize

Maximize the output

Minimize the output

Both a) and b)

None of the above

Ans. C
13. Estimating the durations of activities taking into considerations the resources required for these executions in most economic manner.


a) Activities

b) Scheduling


c) Event


d) All the above

Ans: B
14. A point in Represent in time that signifies the completion of some activities and the beginning of new ones.


a) Activities



b) Event

c) Project



d) All the above

Ans: B

15. Two person zero sum game is also called

a) n- person game

b) Zero sum game

c) Rectangular game

d) None of the above

Ans. C
16. The minimum of the column maximums in the pay off matrix is called 

a) Maximums

b) Minimax

c) Maximin

d) None of the above

Ans. B
17. Optimization is the act of obtaining the -------under any given circumstances

a) Result

b) Best result

c) Idea

d) None of the above

Ans. B
18. In simple situation decisions are taken simply by -------

a) O R

b) Mathematical equation 

c) Common sense

d) All of the above

Ans. C
19. Saddle point is the position where the maximin and minimax --------

a) Coincide

b) Equal

c) Both a) and b)

d) None of the above

Ans. C
20. The network represents project operations or task to be conducted is called-


a) Event



b) Activities


c) Operation



d) All the above

Ans: A
21. Each activity is represented by one and only one in the network –


a) Arrow



b) Line


c) Path 

d) None of the above

Ans: A
22. In simplex method objective function used to control the ---------

a) Development

b) Evaluation of each feasible solution

c) Both a) and b)

d) None of the above

Ans. C
23. Expand LPP

Linear Programming Problem

Linear Program Problem

Layout Program Problem

None of the above

Ans. A
24. The LPP is a class of ------------ programming

Scientific

Mathematical

Both a) and b)

None of the above

Ans. B
25. In the transportation problem it is assumed that the total supply and the total demand are ---

a) Equal

b) Non equal

c) Both a) and b)

d) None of the above

Ans. A
26. L.P.P where all or some variable are constrained to assume non negative values is called. 


a) Integer Programming

b) Branch and Bound Technique


c) Gomory‘s technique

d) All of the above

Ans:A 

27. While formulating a problem the desire of the decision maker is expressed as a function of ----decision variables.

a) N

b) T

c) n

d) None of the above

Ans. c

28. Mathematical model can best be discussed through its constituents they are

a) Decision variable

b) Objective function

c) Constraints

d) All of the above

Ans. d

29. An optimum integer solution will be reached eventually after all the enough new constraints to eliminate all the superior non-integer solutions. The construction of additional constraints called.


a) Linear Programming

b) Branch and Bound


c) Gomory’s constraints

d) All of the above.

Ans:C 
30. A point X of a convex set X is said to be an extreme point if there do not exit X1,X2 (x (x1(x2)


a) Feasible region


b) Convex polygon


c) Extreme point


d) All of the above

Ans:C 
31. In Assignment problem we focused on a special type of a -------- problem

a) Linear

b) Game

c) Transportation

d) None of the above

Ans. C
32. Assignment problem can be formulated as a ------- programming problem

a) Linear

b) Transportation

c) Game

d) None of the above

Ans. A
33. In the Queuing model we study for

a) Customers wait in line

b) Goods form a waiting line awaiting consumption

c) Both a) and b)

d) None of the above

Ans. C
34. Queues build up during hours of -------

a) Demand

b) Supply

c) Both a) and b)

d) None of the above

Ans. C

35. Queuing theory based on ------- concepts

a) Linear

b) Transportation

c) Statistical

d) Probability

Ans. D
36. The transportation algorithm is the -------method

a) Mathematical

b) Scientific

c) Simplex

d) Graphical

Ans. C
37. Any feasible solution satisfying 

a) m+n+1

b) m+n-1

c) m-n-1

d) none of the above

Ans. B
38. Each activity is represented by ------ arrow in the network

a) Two and only two

b) One and only one

c) Three and only three

d) None of the above

Ans. B
39. The first phase of calculation is called

a) First pass

b) Forward pass

c) Back wards pass

d) None of the above

Ans. B
40. LS means

a) Long term simulation

b) Long-term start

c) Latest start

d) None of the above

Ans. C
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41. 306. D   =

a) a+b+4m / 6

b) a+b+3m/6

c) a+b+4m / 5

d) none of the above

Ans. A
42. The ultimate goal of all such decision is to either maximize the --------- and minimize the ---------------

a) Benefit, effort required

b) Effort, benefit

c) Profit, benefit

d) None of the above

Ans. A
43. The output or the -------------- subject to the set of ------

a) Problem, constraints

b) Objective function, constraints

c) Constraints, objective function

d) None of the above

Ans. B
44. If a game does not have saddle point, the suggested solution is 

a) Mixed strategy

b) Pure strategy

c) Strategy

d) None of the above

Ans. A
45. The search of a decision may also be done by ------ and ------But such a search may be cumbersome and -------

a) Trial, error, costly

b) Money, error, cheep

c) All

d) None

Ans. A
46. The ----------- of the column ---------- in the pay off matrix is called minimax

a) Minimum, maximums

b) Maximums, minimum

c) All of the above

d) None of the above

Ans. A
47. Xij = 0 if the 

a) Itch job is not assigned to the jth machine

b) Itch job is assigned to the jth machine

c) Both a) and b)

d) None of the above

Ans. A
48. In the question no. 90 one of these is called the ------- and the other the -------

a) Prime, dual

b) Dual, prime

c) Both a) and b)

d) None of the above

Ans. A
49. Z < W means

a) Strict equality

b) Inequality

c) Slack variables

d) Greater than Z

Ans. B
50. When v = ars
It is called

a) Value

b) Saddle point

c) Both

d) None

Ans. C
51. In aij  i=---------

a) 1,2,3

b) 1,2,3------n

c) 1,2,3,-------m

d) All of the above

Ans. C
52. All constraints are equations except for the -------------- condition which remain inequalities----------- only.

a) Non negativity, (≥, 0)

b) Negativity, (≥, 0)

c) Non negativity, (≤,0)

d) All of the above

Ans. A
53. The second phase called the ------ pass, begins calculation from the end node and moves to the start nod. The no. computed at each node is shown in a ------- end point which represent the latest occurrence time of the corresponding event.

a) Backward pass, Triangle

b) Forward pass, Triangle

c) Backward pass, squares

d) Forward pass, squares

Ans. A
54. If i=1 is the “start” event then conventionally, for the critical path calculations, ESi = 

a) 1

b) 0

c) 2

d) All

Ans. B
55. Critical path computations are quite simple, yet they provide valuable information that -------the scheduling of -------------

a) Complex, simplifies projects

b) Simplifies, complex projects

c) Both a) and b)

d) None of the above

Ans. B
56. Project management has evolved as a new field with the development of two techniques for planning, scheduling and controlling. These are

a) PERT, simulation

b) CPM, simulation

c) Both a) and b)

d) PERT,CPM

Ans. D
57. An analysis of the process is made usually with the help of a flow diagram and an attempt is made to identify the points which restrict service or the characteristics which indicate scope for improvement this study is done in a 

a) Exploration of the various alternatives

b) Preliminary study

c) Both a) and b)

d) None of the above

Ans. B
58. The accuracy associate with --------- improves as the square root of the no. of trials and hence there is a need for a --------- no. of trials

a) Random, simulation

b) Simulation, short

c) Simulation, large

d) None of the above

Ans. C
59. PERT and CPM basically --------oriented methods.

a) Budget

b) Planning

c) Power

d) Time

Ans. D
60. Step 0 for Branch and bound is if the master list is not ------ choose an LPP out of it. Otherwise -------- the process.

a) Empty, continue

b) Empty, stop

c) Fill, , stop

d) None of the above

Ans. B
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61. State True of False for characteristics of a competitive game

1. The no. of players is infinite

2. Each player has finite no. of courses of moves

3. the game is said to be played when each player plan a strategy

4. The game is played once

5. The corresponding combination of courses of action leads to a transaction to each player

6. The payment is called gain

A) 1-T,2-T,3-T,4-T,5-T,6-F

B) 1-T,2-F,3-T,4-F,5-T,6-F

C) 1-F,2-F,3-T,4-T,5-T,6-F

D) 1-F,2-T,3-F,4-F,5-T,6-T

Ans. D

62. Objective of operation research is to provide a --------- basis to the ----------- for solving the problems involving the interaction of various ------------ of organization, by employing a team of -------------- from different disciplines, all working -------- for finding a solution which is the best in the interest of the organization as a whole.

a) Scientific, businessman, components, scientists, together

b) Scientific, Decision -maker, components, scientists, separately

c) Scientific, Decision -maker, components, scientists, together

d) Scientific, Decision -maker, components, staff, together

Ans. C
63. The salesman has to visit n cities. He wishes to start from a particular city, visit each city once, and then return to his starting point. The objective is to 

a) Select the sequence in which the cities are visited in such a way that his total traveling time is minimized

b) Select the sequence in which the cities are visited in such a way that his total cost is minimized

c) None of the above

d) All of the above

Ans. A
64. For solving games if we use dominance then the procedure is

a) In the pay off matrix if each pay off in the rth row is grater then the corresponding pay off in the sth row, Ar dominates As. And so As is deleted

b) In the pay off matrix, if each pay off in the pth column is less than the corresponding pay off in the qth column, Bp dominates Bq, and so Bq is deleted

c) The above steps are repeated in succession until the saddle point is reached and hence the solutions is written down

A) 1,2,3

B) 2,1,3

C) 3,1,2

D) None of the above

Ans. A
 65. A Trader receives X unites of an item at the beginning of each month. The cost of carrying X units per month is give by.




C1X2

C2 (2On – x )2
C(x) =


 +


2n


2n


a) C1 = cost per day of carrying a unit of item in stock.


b) C2 = cost prepay of shortage of a unit of item.


c) n = number of unit item to be supplied per day.


d) All of the above.

Ans: D
66. Match the following

SET -A
1. Planning 

2. Agriculture

3. Hospital

4. Transportation

5. Research and Development

SET -B
i. There is need for increase output. But this cannot be done arbitrarily.

ii. Product Introduction, Planning etc.

iii. Waiting problems

iv. It is necessary for every government

v. To regulate the arrivals and processing time

a. 1-iii,2-ii,3-i,4-v,5-iv
b. 1-iv,2-i,3-iii,4-v,5-ii
c. 1-ii,2-i,3-iv,4-iii,5-v
d. 1-iii,2-i,3-ii,4-iv,5-v
Ans. B
67. State whether the given statements are True or Not:


1.
Operation Research is a scientific approach to problem solving for executive management (H.M Wagner) 



2.
Mathematical programming is the broad term for game theory 


3.
Network Model applied to the Management (Planning controlling and Scheduling)

4.
Markov-chain Model are used for analysis a system to decide optimal time  

a) 1-T 2- F 3- F 4- F


b) 1-T 2- T 3- T 4- T

c) 1-T 2- T 3- F 4- T


d) 1-F 2- F 3- F 4- T

Ans: A

68 Apply simplex procedure solve the L.PP maximize 

Z =2X1+ X2
Subject to       4X1 +3X2 ≤12
       


4X1+ X2 ≤8

a) Z = 5


b) Z = 4

c) Z = 12


c) None of the above

Ans: A

69 Use simplex method to solve the LPP

Maximize Z = 2x1 + 4 X2 + X3 + X4 

Subject to         x1 + 3 X2 + X4 ≤ 4

                          2x1 + x2 + ≤ 3

                           X2 + 4X3 + X4 ≤ 3

                            x1 ,X2 , X3 , X4 ≥ 0

Is all elements of the last row are -------

a) Negative

b) Non – negative

c) Multipliers

d) None of the above

Ans. B
70. In the assignment problem if we Add or subtract a ----- no. to (from) every element of a row or column of the cost matrix then an assignment which is ---------- for the modified matrix is ---------- for the original one

a) Unreal, optimum, optimum

b) Real, optimum, optimum

c) Real, optimum, not optimum

d) Real, variable, optimum

Ans. B
71. Four jobs are to be done on four different machines. The cost in (Rs.) producing ith  on the jth 
machine is (1) Rs 48.




M1
M2
M3
M4



J1
15
11
13
15




J2
17
12
12
13




J3
14
15
10
14           



J4
16
13
11
17


a) Rs 48


b) Rs 44


c) Rs 49

d) All of the above

Ans: C

72.
The simplex method of solve the following – L.PP.


Maximize 
Z =7x1+ 5x2

Subject to 
constraints


X1 + 2X2      (    6


4X1 + 3X2    (  12


X1, X2         ≥ 0

a) Z =21

b) Z = 15


c) Z =16


d) All of these
Ans: A
73. In case only some of the variables are restricted to take integral value and rest (n – k) variables are free to take any non negative values, then the problem is knows as

a) All integer programming problem

b) Pure integer programming problem

c) Mixed integer programming problem

d) Integer programming problem

Ans. C
74. A bank has two counters for withdrawals. Counter one handles withdrawals of value less than Rs. 300 and counter two Rs. 300 and above. Analysis of service time shows a negative exponential distribution with mean service time of 6 minutes per customer for both the counters. Arrivals of customers follows Poisson distribution with mean eight per hour for counter one and five per hour for counter two. What are the average waiting times per customer of each counter?

a) 5 minutes

b) 2 minutes

c) 3 minutes

d) 6 minutes

Ans. D
75. Match the following

Set - A
1. Project planning

2. scheduling

3. project control

Set - B
i. Developing a network diagram showing the sequential inter relationships between the various activities

ii. Refers to revaluating actual progress against the plan

iii. Estimating the durations of activities, taking into considerations the resources required for these execution in most economic manner.

a. 1-i,2-iii,3-ii
b. 1-i,2-ii,3-iii
c. 1-iii, 2-I, 3-ii
d. None of the above

Ans: A
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